





June 19, 2019

Contract for C Ave: 6th St to US 97 Project Subject:

NOTICE OF INTENT TO AWARD CONTRACT

On June 19, 2019, the Board of County Commissioners of Deschutes County, Oregon, considered proposals for the above-referenced project. The Board of County Commissioners determined that the successful bidder for the project was Knife River Corporation - Northwest with a bid of Three Hundred Twenty Seven Thousand Six Hundred Seven dollars (\$327,607.00).

This Notice of Intent to Award Contract is issued pursuant to Oregon Revised Statute (ORS) 279C.375. Any entity which believes that they are adversely affected or aggrieved by the intended award of contract set forth in this Notice may submit a written protest within seven (7) calendar days after the issuance of this Notice of Intent to Award Contract to the Board of County Commissioners of Deschutes County, Oregon, at Deschutes Services Building, 1300 NW Wall Street, Bend, Oregon 97703. The seven (7) calendar day protest period will end at 5:00 PM on Wednesday, June 26, 2019.

Any protest must be in writing and specify any grounds upon which the protest is based. Please refer to Oregon Administrative Rules (OAR) 137-047-0740. If a protest is filed within the protest period, a hearing will be held at a regularly-scheduled business meeting of the Board of County Commissioners of Deschutes County Oregon, acting as the Contract Review Board, in the Deschutes Services Building, 1300 NW Wall Street, Bend, Oregon 97703 within two (2) weeks of the end of the protest period.

If no protest is filed within the protest period, this Notice of Intent to Award Contract becomes an Award of Contract without further action by the County unless the Board of County Commissioners, for good cause, rescinds this Notice before the expiration of the protest period.

If you have any questions regarding this Notice of Intent to Award Contract or the procedures under which the County is proceeding, please contact Deschutes County Legal Counsel: telephone (541) 388-6625; FAX (541) 383-0496; or e-mail to david.doyle@deschutes.org.

Be advised that if no protest is received within the stated time period, the County is
authorized to process the contract administratively.

Sincerely,

DESCHUTES COUNTY, OREGON

Patti Adair, Acting Chair

Cc: Posted on the Deschutes County, Oregon Bids and RFPs website at http://www.deschutes.org/rfps prior to 5:00 PM on the date of this Notice

C AVE: 6TH ST TO US 97
DESCHUTES COUNTY, OREGON
PROJECT # W66081

			_						
	ST III DE CITI			ENGINEER'S	ENGINEER'S ESTIMATE	KNIFE RIVER CORPORATION - NORTHWEST	ORPORATION -	BAR SEVEN A COMPANIES	COMPANIES
DPENING	OPENING: 2:00 PM 6/5/2019					84500 OB KILET K BEND, OR 97703	R 97703	REDMOND	REDMOND, OR 97756
	ITEMS	TIND	QNTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
-	Mobilization	-S	-	\$38,225.00	\$38,225.00	\$26,000,00	\$26,000.00	\$80,000,00	\$80,000.00
2	Work Zone Traffic Control, Complete	ST	1	\$15,000.00	\$15,000.00	\$11,700.00	\$11,700,00	\$70,000.00	\$70,000.00
3	Erosion Control	rs	-	\$6,000.00	\$6,000.00	\$5,800.00	\$5,800.00	\$5,665.00	\$5,665.00
4	Construction Survey Work	rs	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000,00	\$11,500.00	\$11,500.00
5	Removal of Surfacings	SY	650	\$10.00	\$6,500.00	\$6.30	\$4,095,00	\$18.00	\$11,700.00
9	Asphalt Pavement Saw Cutting	Foot	2,200	\$1.50	\$3,300.00	\$0.90	\$1,980.00	\$2.00	\$4,400.00
7	Clearing and Grubbing	rs	-	\$5,000.00	\$5,000.00	\$5,400.00	\$5,400.00	\$16,750.00	\$16,750.00
8	General Excavation	ST	1	\$40,000.00	\$40,000.00	\$35,800.00	\$35,800,00	\$60,535.00	\$60,535.00
6	8 Inch Storm Sewer Pipe	Foot	100	\$45.00	\$4,500.00	\$58.00	\$5,800.00	\$83.00	\$8,300.00
10	Relocate Air Release Valve	Each	-	\$2,500.00	\$2,500.00	\$2,100.00	\$2,100.00	\$8,500.00	\$8,500.00
Ξ	Concrete Inlets, Double Grate	Each	4	\$1,800.00	\$7,200.00	\$3,600.00	\$14,400.00	\$2,746.25	\$10,985.00
12	Concrete Inlets, Curb Opening	Each	3	\$1,000.00	\$3,000,00	\$1,000,00	\$3,000.00	\$1,500.00	\$4,500.00
13	Adjusting Boxes	Each	2	\$250.00	\$1,250.00	\$190,00	\$950.00	\$550.00	\$2,750.00
44	Minor Adjustment of Manholes	Each	2	\$1,000.00	\$2,000.00	\$400.00	\$800.00	\$750.00	\$1,500.00
15	Trench Resurfacing	SΥ	55	\$40.00	\$1,000.00	\$39.00	\$975.00	\$255.00	\$6,375.00
16	Cold Plane Pavement Removal, 1.5 Inch Depth	λS	3,550	\$5.00	\$17,750.00	\$4.00	\$14,200,00	\$5.25	\$18,637.50
17	Aggregate Base, 4 Inches Thick	λS	935	\$14.00	\$13,090.00	\$11.00	\$10,285.00	\$18,00	\$16,830.00
18	Aggregate Base, 6 Inches Thick	λS	135	\$25.00	\$3,375,00	\$31.00	\$4,185.00	\$22.00	\$2,970,00
19	Aggregate Base, 8 Inches Thick	λS	1,400	\$18.00	\$25,200.00	\$18.75	\$26,250.00	\$24.00	\$33,600.00
20	Level 3, 3/8 Inch Dense ACP Mixture	Ton	575	\$100.00	\$57,500.00	\$92.60	\$53,245.00	\$99.60	\$57,270.00
21	Concrete Walks	'n	8,100	\$5.00	\$40,500.00	\$4.40	\$35,640.00	\$8.25	\$66,825.00
22	Concrete Driveways	R	1,200	\$8.00	\$9,600.00	\$6.00	\$7,200.00	\$11.50	\$13,800.00
23	Concrete Curb	Foot	2.100	\$15.00	\$31,500.00	\$10.60	\$22,260.00	\$18.60	\$39,060.00
24	Truncated Dome Detectable Warning Surface	Ŗ	110	\$50.00	\$5,500.00	\$40.00	\$4,400.00	\$52.20	\$5,742.00
25	Pavement Bar, Type AB	R	90	\$15.00	\$1,350.00	\$18.00	\$1,620.00	\$26.75	\$2,407,50
56	Remove and Reinstall Existing Signs	LS.	-	\$5,000,00	\$5,000.00	\$4,400.00	\$4,400.00	\$7,000.00	\$7,000.00
27	Rock Mulch	Ton	165	\$36.00	\$5,940.00	\$32.00	\$5,280.00	\$50.00	\$8,250.00
78 78	Remove Chain Link Fence	Foot	130	\$7.00	\$910.00	\$4.80	\$624.00	\$15.00	\$1,950.00
59	Chain Link Fence, 4 Ft.	Foot	190	\$30.00	\$5,700.00	\$31.20	\$5,928.00	\$36.00	\$6,840.00
8	Relocate Chain Link Fence	Foot	50	\$70.00	\$1,400.00	\$72.00	\$1,440.00	\$75.00	\$1,500.00
31	Chlorinate and Test	rs	-	\$2,250.00	\$2,250.00	\$1,850.00	\$1,850.00	\$4,200,00	\$4,200.00
				= TOTAL =	\$372 040 00	TOTAL =	\$327.607.00	- IATOT	E590 342 00



Deschutes County Board of Commissioners 1300 NW Wall St, Bend, OR 97703 (541) 388-6570 – Fax (541) 385-3202 – https://www.deschutes.org/

AGENDA REQUEST & STAFF REPORT

For Board of Commissioners BOCC Wednesday Meeting of June 19, 2019

DATE: June 10, 2019

FROM: Cody Smith, Road Department,

TITLE OF AGENDA ITEM:

Consideration of Chair Signature of Document No. 2019-275, a Notice of Intent to Award Contract for the C Ave: 6Th St to US 97 Project to Knife River Corporation - Northwest

RECOMMENDATION & ACTION REQUESTED:

Motion for approval of Board Chairman signature of Document No. 2019-275, a Notice of Intent to Award Contract for the C Ave: 6th St to US 97 Project to Knife River Corporation - Northwest

BACKGROUND AND POLICY IMPLICATIONS:

Deschutes County Road Department prepared solicitation documents for the C Ave: 6th St to US 97 project. The project scope of work includes constructing sidewalks, installing storm sewer facilities, paving, and other miscellaneous work on C Ave in Terrebonne between 6th St and US 97 along the frontage to Terrebonne Community School. The project was advertised in the *Daily Journal of Commerce* and the *Bend Bulletin* on May 15, 2019. Department opened bids at 2:00 P.M. on June 5, 2019.

Two (2) bids were received for this project. The bid results are as follows:

Knife River Corporation - Northwest \$ 327,607.00 Bar Seven A Companies \$ 590,342.00

Engineer's Estimate \$ 372,040.00

This action issues a Notice of Intent to Award the contract to the apparent low bidder, Knife River Corporation - Northwest, and allows seven days for a party to protest the award. If there is no protest within the seven-day period, the contract is awarded to the low bidder. The bid tabulation, including the Engineer's estimate, is attached.

<u>FISCAL IMPLICATIONS:</u> The project is included in the Road CIP budget for Fiscal Years 2020. Eighty percent of the total project cost will be funded with an ODOT Safe Routes to Schools (SRTS) grant. The total project cost is estimated to be \$397,428; the SRTS funding

contribution is estimated to be \$317,942, while the County funding contribution is estimated to be \$79,486.

ATTENDANCE: Cody Smith, County Engineer